RE (FBHF vy TAs13 H&E (1)) t=5cm A=838. 6m2

TEEEE 4% # (RC-40) t=3cm A=838. 6m2

FHEE

$=1:500

FLEr R BEKBE Q) N=1EFT

TLF v R FURMAE (2) L=5.0m

-

FLF v R REKH ) N=1&f

TLE v X FUREIE ) L=5.0m

L @
5 — [ — 3 7
E | ’ | ’ | ‘ | ‘ = E‘ s z N& D L
o #it o o o '
f\)

- T

)

) [

T4 T i (]

$=1:50

5300
2650 2650

FLErR UBEE®D) Q)

As As

U e — — U N
— —— = B
Co As As Co
JLE v R UBELE 1) TLE¥ v R FURAE Q)

VY- MEEYIEREE L 0.17 m2 UhY-MEEWERIE L 0.25 m2
i 530 |m SHERRIE (1) 0.92 |m SHERRIE (1) 1.06 |m
HERIBE (2) 530 [m FRIE Y 0.80 |m2 IR Y 12 |m
BREL 0.64 |m2 BREL 0.90 |m2

N

NS

COREEFAY A XERTET B,

I % % FR2EEILE#EIS
XEMRATHAEREE R IE

BIER% AT EERTRAHA

HEDES THR - REHRER

L R = HEES 1/2

EXHAR TR TEEHBT




TLF v X UEMEE (1) (2) TL¥v R KB (2)

S=1:15 $=1:20
) ) 600
(300) Ry BRE T GRIEDIT) -~ FLFr R bRAKBD) @ yL-F) BEE T-25 (GBYIEHIT)
3 A
Tl v R UREIE
o o e . z
FREEELSIL(1:3) Arn=tavsi=r
—~ o oo
58 22 we
\| e .
| o o R B V_‘_- H :. 0 .
B Coel msi\ 88 ams—z0@ 2 i
% —=oRy 28 \ . 1oig T
S3 = —H BA—2(1)(2) N
= eE ES |
BIFAA—X 620 520 é
(130 R (RC-40) o) HHEFE (RC-40) (630 _(50)
(830) 1020
! (1020)
() ETL%vR kUREEQ O () BILAFA Rk @ ot
TLEv X FUBAGE W) ) 10m L) TLEr X MEKH Q) (2) lEEER)
%{ % TR B4y ;‘l =
% e 5 w | B o= & # *E L - B o=
(1) @) ) @
FRIZHFEIE FRYH
. 300 x 300 x 1000 P 10 - GEGINS 300 x 600 x 500 H® 1 - A
FLF v R b URRH FRAGITIH TLFr R R EAM o
400 x 400 x 1000 * - 10 RERELL 400 600> 610 E - 1 AERLLE
FRE&EMT A" -2 FR# A" -2
. 300/ L=1000 1% 10 - AERLLE . 300 x 600F & f - RESLLE
IR~ —2 FRIBEF AN 7 B~ —2 ] FREATR RN -2
400F8 L=1000 * - 10 AZ&LE 400 x 60074 L - A%RLE
il RG-40 =100 m | 072 0.83 T 300 60074 & ! . mEAnL
RIEELZIL 1:3 m 0. 01 0.01 400 x 60073 1@ - 1 ﬂggui
3
AoR—kavsy—t 18-8-25 m 0.03 0.03
3
ERRE RC-40 t=100 m 0.63 0. 74
3
RIEEELAIL 1:3 m 0.01 0.01
300600 B3 T-25 1 1 -
FL—FLoE
S 400x600 B T-25 1% - 1
== &5?1.10 CORERAY A XERTET B,
' R8I B MBS
I E 4
EENTRATHPRERISHE (%) IS
2] KB (EHEX v v FASI3HE (1)) 2, 350ke/m3 -
e % @ ETERA EHEBRTRATH A
HENDEE I %
As3LEI (PK-3)
i R B R HEES | 22
FEBE #E#H RC-40) t=3cm
TEHA ETENRE R T BRI




	zu1
	zu2

